NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date: Protest Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020 June 24, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-116274 Jemal's East 451, LLC AC Hotel Washington D Retailer's Class "C" Hot 601 K Street, N.W. Stephen J. O'Brien: (202	el
WARD 6	ANC 6E	SMD 6E05

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009**. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. **The Protest Hearing date** is scheduled on **June 24, 2020 at 4:30 p.m.**

NATURE OF OPERATION

New Class "C" Hotel with a total of 234 rooms. Establishment will have a Summer Garden with 60 seats. Licensee is requesting to have an Entertainment Endorsement, including Dancing, inside and outside.

HOURS OF OPERATION INSIDE PREMISES

Sunday through Saturday 12am – 12am (24 hour operations)

HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION AND LIVE ENTERTAINMENT INSIDE PREMISES

Sunday through Thursday 8am – 2am, Friday and Saturday 8am – 3am

HOURS OF OPERATION, ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION, AND LIVE ENTERTAINMENT FOR SUMMER GARDEN

Sunday through Thursday 8am to 12am, Friday and Saturday 8am to 2am

ALCOHOLIC BEVERAGE REGULATION ADMINISTRATION NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-111740 Annabelle, LLC Annabelle Retailer's Class "C" Res 2130 Florida Avenue, N Sidon Yohannes, Esq.: (.W.
WARD 2	ANC 2B	SMD 2B01

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

Request to add a Sidewalk Cafe with 31 seats.

<u>CURRENT HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES,</u> <u>SERVICE, AND CONSUMPTION (INSIDE PREMISES)</u>

Sunday through Saturday 10am – 2am

PROPOSED HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION (SIDEWALK CAFE)

Sunday through Saturday 10am – 2am

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA- 116493
Licensee:	Baan Siam, Inc.
Trade Name:	Baan Siam
License Class:	Retailer's Class "C" Restaurant
Address:	425 I Street, NW, Suite #103
Contact:	Thomas Healy: (917) 543-5211

WARD 6 ANC 6E SMD 6E05

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 1:30 p.m.

NATURE OF OPERATION

The Establishment will be a full-service Thai Restaurant. Seating Capacity of 155 inside and a Total Occupancy Load of 226. Sidewalk Café with 55 seats.

HOURS OF OPERATION INSIDE OF THE PREMISES

Sunday through Thursday 7am – 2am, Friday and Saturday 7am – 3am.

HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION INSIDE OF THE PREMISES

Sunday through Thursday 8am – 2am, Friday and Saturday 8am – 3am.

HOURS OF OPERATION FOR THE SIDEWALK CAFE

Sunday through Thursday 10am – 11pm, Friday and Saturday 10am – 12am.

HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION FOR THE SIDEWALK CAFÉ

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-087875 476 K, LLC Cloakroom Retailer's Class "C" Nigh 476 K Street, N.W. Antonios Cavasilios: (301	
WARD 6	ANC 6E	SMD 6E05

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

Request to change hours of operation inside premises.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION INSIDE PREMISES</u>

Sunday through Thursday 10:30am – 2am, Friday and Saturday 10:30am – 3am

PROPOSED HOURS OF OPERATION INSIDE PREMISES

Sunday through Saturday 10:30am – 5am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-093572 Kat, LLC Cloud Restaurant & Lo Retailer's Class "C" Ta 1919 9 th Street, N.W. Stephen O' Brien: (202	wern
WARD 1	ANC 1B	SMD 1B02

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

CURRENT HOURS OF OPERATION

Sunday through Saturday 11am - 6am

<u>CURRENT HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE AND</u> <u>CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee:	ABRA-100259 Omar, LLC	
Trade Name: License Class:	Costello Restaurant and Lounge Retailer's Class "C" Tavern	
Address:	5201 Georgia Avenue, N.W.	
Contact:	Stephen O' Brien: (202) 625-7700	
WARD 4	ANC 4D	SMD 4D04

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

Sunday through Saturday 10am – 12am

NOTICE OF PUBLIC HEARING

Placard Postin Protest Petition Roll Call Hear Protest Hearin	n Deadline: ring Date:	March 6, 2020 April 20, 2020 May 4, 2020 June 24, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:		ABRA-116482 DC Corazon, Inc. DC Corazon Retailer's Class "C" Tavern 3903 & 3905 14 th Street, N.W Ana De Leon: (202) 246-7601	
	WARD 4	ANC 4C	SMD 4C05

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 4:30 p.m.

NATURE OF OPERATION

A new Retailer's Class C Tavern with a seating capacity of 68 and Total Occupancy Load of 72. Sidewalk Café with 26 seats. Licensee is requesting an Entertainment Endorsement for inside premises and outside in sidewalk café.

HOURS OF OPERATION FOR INSIDE PREMISES

Sunday through Thursday 7am – 2am, Friday and Saturday 7am – 3am

HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION FOR INSIDE PREMISES

Sunday through Thursday 10am – 2am, Friday and Saturday 10am – 3am

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION FOR OUTSIDE IN SIDEWALK CAFÉ

Sunday through Saturday 10am – 12am

HOURS OF LIVE ENTERTAINMENT FOR INSIDE PREMISES

Sunday through Thursday 6pm – 2am, Friday and Saturday 6pm – 3am

HOURS OF LIVE ENTERTAINMENT FOR OUTSIDE IN SIDEWALK CAFÉ

Sunday through Saturday 6pm –10pm

NOTICE OF PUBLIC HEARING

Placard Posting Da Protest Petition De Roll Call Hearing I	adline: A	farch 6, 2020 pril 20, 2020 fay 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	D D R 28	BRA-097569 ew Drop Inn, LLC ew Drop Inn etailer's Class "C" Tay 301 8 th Street, N.E. ohn McGovern: (202) 4	
WA	RD 5	ANC 5E	SMD 5E01

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

Applicant requests to add Dancing and Cover Charge Endorsements to their existing Entertainment Endorsement.

HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION INSIDE OF THE PREMISES AND FOR THE SUMMER GARDEN

Sunday through Thursday 10am – 2am, Friday and Saturday 10am – 3am

HOURS OF LIVE ENTERTAINMENT INSIDE OF THE PREMISES

Sunday through Thursday 6pm – 2am, Friday and Saturday 6pm – 3am

HOURS OF LIVE ENTERTAINMENT FOR THE SUMMER GARDEN

Sunday through Saturday 6pm – 10pm

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class:	ABRA-015934 Don Juan Restaurant, Inc Don Juan Restaurant & C Retailer's Class "C" Rest	Carryout
Address: Contact:	1660 Lamont Street, N.W. Stephen O' Brien: (202) 625-7700	
WARD 1	ANC 1D	SMD 1D04

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-095249 El Pulgarcito Restauran El Pulgarcito Retailer's Class "C" Ta 5313 Georgia Avenue, I Stephen O' Brien: (202)	vern N.W.
WARD 4	ANC 4D	SMD 4D01

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

CURRENT HOURS OF OPERATION

Sunday through Thursday 7am – 2am, Friday and Saturday 7am – 3am

<u>CUERRENT HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE AND</u> <u>CONSUMPTION</u>

Sunday 10am – 2am, Monday through Thursday 9am – 2am, Friday and Saturday 9am – 3am

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA-116661
Licensee:	Farmbird Restaurant 2, LLC
Trade Name:	Farmbird
License Class:	Retailer's Class "C" Restaurant
Address:	401 9 th Street, N.W.
Contact:	Stephen J. O'Brien: (202) 625-7700

WARD 2 ANC 2C SMD 2C03

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 4:30 p.m.

NATURE OF OPERATION

The Establishment will be a restaurant offering grilled chicken. Seating Capacity of 80 inside and a Total Occupancy Load of 120. Sidewalk Café with 12 seats.

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION FOR INSIDE OF THE PREMISES AND FOR THE SIDEWALK CAFE

Sunday through Saturday 8am – 12am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-107078 713 Partners, LLC Finn McCools Retailer's Class "C" Re 713 8 th Street, S.E. Stephen O' Brien: (202	
WARD 6	ANC 6B	SMD 6B03

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

Sunday 10am – 2am, Monday through Friday 8am – 2am, and Saturday 8am – 3am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name:	ABRA-076693 Grand Central, LLC Grand Central	
License Class: Address:	Retailer's Class "C" Res 2447 18 th Street, N.W.	staurant
Contact:	Stephen O' Brien: (202)	625-7700
WARD 1	ANC 1C	SMD 1C07

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-021562 J.W.B. Inc. Harry's Retailer's Class "C" Tav 436 11 th Street, N.W. Stephen O' Brien: (202)	
WARD 2	ANC 2C	SMD 2C01

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.:	ABRA-086141	
Licensee: Trade Name:	Lola's LLC Lola's	
License Class:	Retailer's Class "C" Tav	ern
Address:	711 8 th Street, S.E.	
Contact:	Stephen O' Brien: (202)	625-7700
WARD 6	ANC 6B	SMD 6B03

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address:	ABRA-020234 Planet F, Inc. Lucky Bar Retailer's Class "C" Tave	
Contact:	1221 Connecticut Avenue Stephen O' Brien: (202) 6	/
WARD 2	ANC 2B	SMD 2B05

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

CURRENT HOURS OF OPERATION

Sunday through Thursday 7am – 2am, Friday and Saturday 7am – 3am

<u>CURRENT HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE AND</u> <u>CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA-116263
Licensee:	Union Market LB, LLC
Trade Name:	Lucky Buns
License Class:	Retailer's Class "C" Restaurant
Address:	1309 5 th Street, N.E.
Contact:	Hunter Campbell: (301) 775-7444

WARD 5 ANC 5D SMD 5D01

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009**. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The **Protest Hearing date** is scheduled on **June 24, 2020 at 1:30 p.m.**

NATURE OF OPERATION

New class C Restaurant serving American cuisine. Seating Capacity of 98. Total Occupancy Load of 98.

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE AND CONSUMPTION INSIDE OF THE PREMISES

Sunday through Saturday 10am – 2am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline:	March 6, 2020 April 20, 2020	
Roll Call Hearing Date:	May 4, 2020	
License No.:	ABRA-114106	
210010011001		
Licensee:	The McKenzie Group, L	LC
Trade Name:	Ocean Lounge	
License Class:	Retailer's Class "C" Tave	ern
Address:	1220 H Street, N.E.	
Contact:	Stephen O' Brien: (202)	625-7700
WARD 6	ANC 6A	SMD 6A01

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

Sunday 11am – 1am, Monday through Thursday 11am – 2am, Friday and Saturday 11am – 3am

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
T ') T	
License No.:	ABRA-116576
Licensee:	RH Trading, LLC
Trade Name:	OttottO
License Class:	Retailer's Class "A" Internet
Address:	4221 Connecticut Avenue, N.W. (Rear)
Contact:	Lyle M. Blanchard, Esq.: (202) 452-1400, Ext. 5406

WARD 3 ANC 3F SMD 3F02

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 4:30 p.m.

<u>NATURE OF OPERATION</u> New Class "A" Internet Retailer selling beer, wine, and spirits online only for off-premises consumption. This location will not be open to the public.

HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES

Sunday through Saturday 10am – 8pm

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA-116402
Licensee:	RASA MVT, LLC
Trade Name:	RASA
License Class:	Retailer's Class "C" Restaurant
Address:	485 K Street, N.W.
Contact:	Anthony Ruiz, Agent: (646) 262-1935

WARD 6 ANC 6E SMD 6E05

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 4:30 p.m.

NATURE OF OPERATION

New Retailer's Class "C" Restaurant serving fast-casual Indian cuisine. Applicant is applying for a Sidewalk Cafe Endorsement with 18 seats. Total seating inside is 25 with a Total Occupancy Load of 48.

HOURS OF OPERATION (INSIDE PREMISES)

Sunday through Saturday 7am – 12am

HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION (INSIDE PREMISES)

Sunday through Saturday 8am - 12am

HOURS OF OPERATION (SIDEWALK CAFE)

Sunday through Saturday 8am – 12am

HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION (SIDEWALK CAFE)

Sunday through Thursday 8am – 11pm Friday and Saturday 8am – 12am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-109089 AHZ LLC Recessions II Retailer's Class "C" Tav 1823 L Street, N.W. Stephen O' Brien: (202)	
WARD 2	ANC 2B	SMD 2B06

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-076011 Salma, LLC Red Lounge Hookah Retailer's Class "C" Tave 2013 A 14 th Street, N.W. Stephen O' Brien: (202)	
WARD 1	ANC 1B	SMD 1B12

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

Sunday 10am – 12am, Monday through Thursday 10am – 2am, Friday and Saturday 10am – 3am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class:	ABRA-098182 NYPA LLC Reliable Tavern & Hardw Retailer's Class "C" Tave	rn
Address: Contact:	3655 Georgia Avenue, N.W. Stephen O' Brien: (202) 625-7700	
WARD 1	ANC 1A	SMD 1A08

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

Sunday 10am – 2am, Monday through Thursday 9am – 2am, Friday and Saturday 9am – 3am

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA-116352
Licensee:	Somtam Holdings 1 LLC
Trade Name:	SOMTAM
License Class:	Retailer's Class "C" Restaurant
Address:	1309 5 th Street, N.E.
Contact:	Kwiince Lipscomb: (310) 906-8669

WARD 5 ANC 5D SMD 5D01

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 4:30 p.m.

NATURE OF OPERATION

A new Retailer's Class C Restaurant with a seating capacity of 15 and Total Occupancy Load of 29.

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline: Roll Call Hearing Date:	March 6, 2020 April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-085710 Canal 5 LLC The Brig Retailer's Class "C" Tav 1007 8 th Street, S.E. Stephen O' Brien: (202)	
WARD 6	ANC 6B	SMD 6B04

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

The licensee is requesting to install three (3) Dragon's Ascent electronic games of skill machines.

<u>CURRENT HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE</u> <u>SALES, SERVICE AND CONSUMPTION</u>

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA-116646
Licensee:	The Experience, LLC
Trade Name:	The Experience
License Class:	Retailer's Class "C" Tavern
Address:	2040 West Virginia Avenue, N.E.
Contact:	John Brown, Owner: (202) 704-6055

WARD 5 ANC 5D SMD 5D01

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 1:30 p.m.

NATURE OF OPERATION

New Retailer's Class "C" Tavern serving catered brunch and dinner. Applicant is applying for an Entertainment Endorsement, Dancing, and Cover Charge. Total seating is 60 with a Total Occupancy Load of 140.

HOURS OF OPERATION, ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION, AND LIVE ENTERTAINMENT

Sunday 11am – 2am Monday through Thursday 12pm – 2am Friday and Saturday 11am – 3am

NOTICE OF PUBLIC HEARING

Placard Posting Date: Protest Petition Deadline Roll Call Hearing Date:	March 6, 2020 : April 20, 2020 May 4, 2020	
License No.: Licensee: Trade Name: License Class: Address: Contact:	ABRA-112308 2411 18 th Hospitality, L The Game Sports Pub/T Retailer's Class "C" Re 2411 18 th Street, N.W. Oscar Guardado: (202)	Tiki on 18th staurant
WARD 1	ANC 1C	SMD 1C07

Notice is hereby given that this licensee has requested a Substantial Change to their license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the **Roll Call Hearing date on May 4, 2020 at 10 a.m., 4th Floor, 2000** 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline.

NATURE OF SUBSTANTIAL CHANGE

Applicant requests to add an Entertainment Endorsement with Cover Charge inside premises only.

HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION INSIDE PREMISES

Sunday through Thursday 9am – 2am, Friday and Saturday 9am – 3am

HOURS OF OPERATION AND ALCOHOLIC BEVERAGE SALES, SERVICE, AND CONSUMPTION FOR THE SUMMER GARDEN

Sunday through Thursday 11am – 12am, Friday and Saturday 11am – 1am

PROPOSED HOURS OF LIVE ENTERTAINMENT INSIDE ONLY

NOTICE OF PUBLIC HEARING

Placard Posting Date:	March 6, 2020
Protest Petition Deadline:	April 20, 2020
Roll Call Hearing Date:	May 4, 2020
Protest Hearing Date:	June 24, 2020
License No.:	ABRA-115987
Licensee:	Whole Foods Market Group, Inc.
Trade Name:	Whole Foods Market
License Class:	Retailer's Class "B" Full-Service Grocery
Address:	967 Florida Avenue, N.W.
Contact:	Sidon Yohannes, Esq.: (202) 686-7600

WARD 1 ANC 1B SMD 1B11

Notice is hereby given that this licensee has applied for a new license under the D.C. Alcoholic Beverage Control Act and that the objectors are entitled to be heard before the granting of such on the Roll Call Hearing date on May 4, 2020 at 11 a.m., 4th Floor, 2000 14th Street, N.W., Washington, DC 20009. Petitions and/or requests to appear before the ABC Board must be filed on or before the Petition Deadline. The Protest Hearing date is scheduled on June 24, 2020 at 1:30 p.m.

NATURE OF OPERATION

A market that will serve hot and cold meals which includes salads, sandwiches, pizza, sushi, baked goods, and non-alcoholic beverages.

HOURS OF OPERATION AND HOURS OF ALCOHOLIC BEVERAGE SALES

Sunday through Saturday 8am – 12am